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OO0 >»>0000000 Command Window 0000000000
>> help help
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>> helpwin help
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>> 145
ans =
6
>> log2(8)
ans =
3
>> 3xlog2(sin(5))
ans =
-0.1815 +13.5971i
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>> ans
ans =
-0.1815 +13.5971i
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sin(a)

-0.9589
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>> ab = ans
ab =
15.7080
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>> b = sin(a*pi)
b =
6.1232e-016
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>> y = [0 1/sqrt(2) 1 1/sqrt(2) 0 -1/sqrt(2) -1 -1/sqrt(2) 0]
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>> plot(y)
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>> 1:9

1 2 3 4 5 6 7 8 9
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>> 1:0.1:2
ans =
Columns 1 through 9
1.0000 1.1000 1.2000 1.3000 1.4000 1.5000 1.6000 1.7000 1.8000
Columns 10 through 11
1.9000 2.0000
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>> t=0:1/4*pi:2*pi
t =
0 0.7854 1.5708 2.3562 3.1416 3.9270 4.7124  5.4978 6.2832
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>> y = sin(t)
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>> x = 10;
>> sin(x)
ans =
-0.5440
>> x = [9 10 11 12];
>> sin(x)
ans =
0.4121 -0.5440 -1.0000 -0.5366
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> x = [1 2 3];

[4 5];

>> x * y

7?77 OO0 ==> mtimes
Dddo0ooodoooooooooooooa

>>y
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>> y(1)
ans =

0
>> y(2)
ans =

0.7071
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>> y(1:5)
ans =
0 0.7071 1.0000 0.7071 0.0000
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>> x 0:0.2:1;
>> y = x;

>> plot(y)

>y =1 - x;

>> plot(y)
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>> t0 = 0:0.1:1;
>> t1 = [1];
>> y0 = t0;
>> y1 = [2];

>> plot ([t0 t1], [yO0 y1l1);
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>> t = 0:1/8000:1;
>> xx=sin(2*pi*400%t) ;
>> sound (xx,8000)
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